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B = 2e-8*I/d; (scaled answer)
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F= abs(Q*v*B) (scaled answer)
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SOLUTION KEY


. B=mt+3
$ - AB = ark.ak - xC B
- Phi=3.1416e-4*r1"2*(m*10+3);
2) q'b: 7“'1_5 scaled answer

emf=-3.1416e-4*r1"2*N*m

c) | L, = - = R lin=-emf/8
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Phi=3.1416e-4*r1^2*(m*10+3);
scaled answer
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Iin=-emf/8
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B=mt+3
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emf=-3.1416e-4*r1^2*N*m
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B= 3.1416e-5/2*1*(1/a+1/b);

Scaled Answer.
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B= 3.1416e-5/2*I*(1/a+1/b); 
Scaled Answer.
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V = 9e6*Q*{a”3*(1/55-1/b)/(b"3-a”3)+1/b+
(b"2-557°2)/[2*(b™3-a™3)]} (Scaled Answer);
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E = 9e9*Q*(55^3-a^3)/(b^3-a^3)/55^2 (scaled answer)
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E= 9e9*Q/120^2
Scaled Answer
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V = 9e6*Q*{a^3*(1/55-1/b)/(b^3-a^3)+1/b+(b^2-55^2)/[2*(b^3-a^3)]} (Scaled Answer);
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